ESTIMATE COST TEMDER COST PANELTY PER DAY	9,79,090/- 1500/- 1500	TIME LIMIT SECURITY DEPOSIT	01 Month 19,581/-
1			

SUEJECT:- P/L 145 thick carpet at Hub River Road to Baldia Police Station (Thana) Dehli Colony, in UC No8, D.M.C (West). Baldia Zone,

S.NO	DISCREPTION	QTY	RATE	PER	AMOUNT
01	Earth work exeavation in ashes, sand soft soil or silt clearance undressed lead up to 50 ft.	6375-cft	1663.75	%Cft	10606/-
02	Providing and laying aggregate base course in proper grade and camber having CBR 80% as per AASHTO standard specifications i/e spreading and compacting by approved mechanical means (Motor Grader, vibratory roller and smooth wheel roller etc.) watering to maintain the moisture contents the compaction of each layer shall 100 percent to the max dry density (Rate i/e all cost of materials T&P and carriage up to	6375-cn	5542.24	%Cn	353318/-
03	Providing I ½" thick (consolidated) premixed carpet in proper camber and grade i/e supplying 15 Cft. Bajri 5 Cft. Hill sand (of approved quality and grade) bitumen of 80/100 penetration i/e mixing in mechanical mixer in required proportion i/e healing materials and cleaning the road surface (Hi8H sand 3 cft. For mixing and 2.0 cft. For dusting) (Rate i/e all cost of materials T&P and carriage up to 3 channels.	12750- cft	5882.07	%Sq	749964/-
04	Carriage of 100 cft tons of all kinds material like Cole bricks i/c loading unloading 10 miles.	6375-cft	595.80	%Cft	37982/-

Nomenclature, quantities and rates Etc checked and found correct.

A.E (B&R)

1/We hereby quoted rate@

TENDER COST 1500/- SECURITY DEPOSIT 19.812/	101
PANELTY PER DAY 1500/-	l <i>ZI</i> -

SUBJECT:- P/I. 1 ½" thick carpet at Jama Dehli Masjid to Akbar Play Ground in UC No8, D.M.C (West). Baldia Zone.

	S.NO 01	DISCREPTION Earth work excavation in ashes, sand soft soil or silt clearance undressed lead up to 50 ft.	QTY 6450-cft	RATE 1663.75	PER %Cft	AMOUNT 10731/-
: : : : : : : : : : : : : : : : : : : :	02	Providing and laying aggregate base course in proper grade and camber having CBR 80% as per AASHTO standard specifications i/c spreading and compacting by approved mechanical means (Motor Grader, vibratory roller and smooth wheel roller etc.) watering to maintain the moisture contents the compaction of each layer shall 100 percent to the max dry density (Rate i/c all cost of materials T&P and carriage up to	: - -	5542.24	%Cft	357474/-
	03	Providing 1 ½" thick (consolidated) premixed carpet in proper camber and grade i/c supplying 15 Cft. Bajri 5 Cft. Hill sand (of approved quality and grade) bitumen of 80/100 penetration i/c mixing in mechanical mixer in required proportion i/c healing materials and cleaning the road surface (Hi8H sand 3 cft. For mixing and 2.0 cft. For dusting) (Rate i/c all cost of materials T&P and carriage up to 3 channels.	12900- cit	5882.07	%Sq	758787/-
	04	Carriage of 100 cft tons of all kinds material like Cole bricks i/c loading unloading 10 miles.	6450-cft	595.80	%Cft	38429/-
i	:		l			

Nomenclature, quantities and rates Etc checked and found correct.

A.E (E&R)

I/We hereby quoted rate@

ESTIMATE COST	9,21,495/-	TIME LIMIT	01 Month
TENDER COST	1500/-	SECURITY DEPOSIT	18,429/-
PANELTY PER DAY	1500/-	T	
:	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	

SUBJECT:- Repair and maintenance of Ghousia Road in UC No7, D.M.C (West). Baldia Zone,

S.NO 01	DISCREPTION Harth work exeavation in ashes, sand soft soil or silt clearance undressed lead up to 50 ft.	QTY 6000-eft	RATE 1663.75	PER %Cû	AMOUNT 9982/-
02	Providing and laying aggregate base course in proper grade and camber having CBR 80% as per AASHTO standard specifications i/c spreading and compacting by approved mechanical means (Motor Grader, vibratory roller and smooth wheel roller etc.) watering to maintain the moisture contents the compaction of each layer shall 100 percent to the max dry density (Rate I/c all cost of materials T&P and carriage up to		5542.24	%Cfi	332534/-
03	Providing 1 ½" thick (consolidated) premixed carpet in proper camber and grade i/c supplying 15 Cft. Bajri 5 Cft. Hill sand (of approved quality and grade) bitumen of 80/100 penetration i/c mixing in mechanical mixer in required proportion i/c healing materials and cleaning the road surface (Hi8H sand 3 cft. For mixing and 2.0 cft. For dusting) (Rate i/c all cost of materials T&P and carriage up to 3 channels.	12000- eft	5882.07	%Sq	705848/-
04	Carriage of 100 cft tons of all kinds material like Cole bricks i/c loading unloading 10 miles.	6000-cft	595.80	%Cn	35748/-

Nomenclature, quantities and rates Etc checked and found correct.

A.E (B&R)

I/We hereby quoted rate@

EST MATE COST TENDER COST PANELTY PER DAY	9.91.518/- 1500/- 1500/-	TIME LIMIT SECURITY DEPOSIT	01 Month 19,830/-	

SUEJECT: - P/L 12"Dia R.C.C Pipe Drain at Sector 9/F-1 Sector 9/C Noor Badshah taliah in UC No3, D.M.C (West). Baldia Zone,

S.NO 01	DISCREPTION Excavation for pipe line in trenches and pits in all kind of soils of murum shape leveling of beds of Trenches to correct lever and grade, surplus earth with in a one chain as	QTY 10800 - cft	RATE 4650.00	PER %0Cft	AMOUNT 50220/-
02	directed by Eng Incharge. Exeavation for pipe line in trenches and pits in hard rock by chiseling trimming and dressing alignment & shape leaving up to one chain.	4050-cfi	24150.00	%0Cli	97808/-
03	P/L reinforced cement concrete pipes with rubber rings i/c cartage, loading unloading at site of work fixing in trenches cutting fitting, jointing with rubber rings etc complete KWSB Approved Rate/S Balochistan RCC Pipe Co. 14/S Pakistan const (PVT) LTD M/S Kamal RCC Pipe Co.	1100.eft	367.00	P/rft	403700/-
04	Construction of 4" dia manhole inside complete with 21" dia ce 1:2:4 pre cast C.I frame 12Kg i/c the cost of M.S bar reinforcement and two handles 5"clear depth c c 1:2:4 cast in situ walls with 50% screened graded bajri of 9"thick i/c bending and channel i/c inside walls surface complete i/c cutting asphalt roads excavation in al kind of soil back lifting and disposal of surplus stuff (KWSB) Approved rate.	56-Nos	9307.86	Éach	428162/-
05	Extra depth beyond 5"ft or less then 5 deducted at the same rate (KWSB) Approved rate.	(-)28-cft	1609.15	PΪ	(-)45056
. 06'	Refilling excavation stuff & surplus earth etc complete.	13365- cft	2760.00	%Cft	36887/-
07	Carriage of 100 cft tons of all kinds material like Cole bricks i/e loading unloading 10 miles.	1485-cn	595.80	%Cft	8848/-
08	Manufacturing and supply of R.C.C ring slab of 21"dia inside 36"dia out side.7.5"width and 6"thick i/e 3/8"diafor steel bars two concentric rings with 3/8"dia nos cross linked bars welded and two sunk type hooks, casted in(1:1/2:3)cons with embedded 15Kg C.I Frame in perfect position i/c transportation charges for as average lead of 20 KM per trip from easting yard to town office (A minimum of 25 slabs per trip will be transported.)	30-Nos	1906.60	Each	57198/-
i		. !			

0)	Manufacturing and supply R.C.C main hole covers eastin situ 1:2:4 C.C.3"Inch deep in centre reinforced with 3/8"dia M.S Bar welded on M.S sheet i/e curing transportation 21" DIA.	31-Nos	913.63	Hach	28323/-
İ	24" DIA.	İ			i
10	Rate analysis for shifting to the site and fixing 26" dia Ring Slab in perfect position on damage manhole i/e cutting of damage portion of mentioned in past shape and lying of cement concrete mortar of 2"thicknessand disport.	30-Nos	563.09	Each	16893

Non-enclature, quantities and rates Etc checked and found correct.

M. F. AL A.E (B&R)

I/We hereby quoted rate@

% above/below the schedule of rates.
Contractor's Signature

Address

,, , (1.

ESTIMATE COST TENDER COST PANELTY PER DAY	9,90,741/- 1500/- 1500/-	SECURITY DEPOSIT	01 Month 19.814/-
	i	i '	

SUBJECT: - P/L 12"Dia R.C.C Pipe Drain at sector 8/A,ADM School Street Sector 9/D, Happy Home Street in UC No2&3, D.M.C (West). Baldia Zone,

SNO	DISCREPTION	QTY	RATE	T DED	
01	Excavation for pipe line in trenches and pits in all kind of soils of murum shape leveling of beds of Trenches to correct lever and grade, surplus earth with in a one chain as directed by Eng Incharge.	10800 - cft	4650.00	PER %0Cft	50220/-
02	Exeavation for pipe line in trenches and pits in hard rock by chiseling trimming and dressing alignment & shape leaving up to one chain.	4050-cft	24150,00	%0Cit	97808/-
(),3	P/L reinforced cement concrete pipes with rubber rings i/c eartage, loading unloading at site of work fixing in trenches cutting fitting, jointing with rubber rings etc complete KWSB Approved Rate/S Balochistan RCC Pipe Co. M/S Pakistan const (PVT) LTD M/S Kamal RCC Pipe Co.	1100.cit	367.00	P/rft	403700/-
04	Construction of 4" dia manhole inside complete with 21" dia cc 1:2:4 pre east C.I frame 12Kg i/c the cost of M.S bar reinforcement and two handles 5"clear depth c c 1:2:4 cast in situ walls with 50% screened graded bajri of 9"thick i/c bending and channel i/c inside walls surface complete i/c cutting asphalt roads excavation in al kind of soil back filling and disposal of surplus stuff (KWSB) Approved rate.	56-Nos	9307.86	Each	428162/-
05	Extra depth beyond 5"ft or less then 5 deducted at the same rate (KWSB) Approved rate.	(-)28-cft	1609.15	Pft	(-)45056
06	Refilling excavation stuff & surplus earth etc complete.	13365- eft	2760.00	%Cn	36887/-
07	Carriage of 100 cft tons of all kinds material like Cole bricks i/c loading unloading 10 miles.	1485-cft	595.80	%Cn	8848/-
08	Manufacturing and supply of R.C.C ring slab of 21"dia inside 36"dia out side,7.5"width and 6"thick i/e 3/8"diafor steel bars two concentric rings with 3/8"dia nos cross linked bars welded and two sunk type hooks, casted in(1:1/2:3)cons with embedded 15Kg C.I Frame in perfect position i/e transportation charges for as average lead of 20 KM per trip from easting yard to town office (A minimum of 25 slabs per trip will be transported.)	30-Nos	1906.60	Each	57198/-

()** : :	Manufacturing and supply R.C.C main hole covers eastin situ 1:2:4 C.C.3"Inch deep in centre reinforced with 3/8"dia M.S Bar welded on M.S sheet i/e curing transportation 21" DIA	30-Nos	913.63	Each	27409/-
i I	24" DIA. Rate analysis for shifting to the site and fixing 26" dia Ring Slab in perfect position on damage manhole i/c cutting of damage portion of mentioned in past shape and lying of cement concrete mortar of 2"thicknessand disport.	30-Nos	563,09	Each .	16893

Nomenclature, quantities and rates Etc checked and found correct.

A.E (B&R)

I/We hereby quoted rate@

ES IMATE COST TENDER COST PASSELTY PER DAY	9,92,294/- 1500/- 1500/-		TIME LIMIT SECURITY DEPOSIT	01 Month 19,845/-
: !		.]		

SUBJECT: - P/L 12"Dia R.C.C Pipe Drain at Aysha Rana Chowk Razak Bara A.N School Street Block A.B,C,D Qaim Khani Colony in UC No2, D.M.C (West). Baldia Zone,

S.NO	DICCOENCIAN	l'''	T11 ·	[· · · · · · · · · · · · · · · · · · ·	
01	DISCREPTION Excavation for pipe line in trenches and pits in all kind of	10800 -	4650.00	PER %0CR	AMOUNT
	soils of murum shape leveling of beds of Trenches to correct lever and grade, surplus earth with in a one chain as directed by Eng Incharge.	cft	4030.00	70UC.1t	50220/-
02	Exeavation for pipe line in trenches and pits in hard rock by chiseling trimming and dressing alignment & shape leaving up to one chain.	4050-cft	24150.00	%0Cft	97808/-
03	P/I. reinforced cement concrete pipes with rubber rings i/e cartage, loading unloading at site of work fixing in treaches cutting fitting, jointing with rubber rings etc complete KWSB Approved Rate/S Balochistan RCC Pipe Co. M/S Pakistan const (PVT) LTD M/S Kamal RCC Pipe Co.	1100.eft	367.00	P/rft	403700/-
	42"Dia Pipe	<u> </u>			
04	Construction of 4" dia manhole inside complete with 21" dia cc 1:2:4 pre cast C.l frame 12Kg i/c the cost of M.S bar reinforcement and two handles 5"clear depth c c 1:2:4 cast in situ walls with 50% screened graded bajri of 9"thick i/c bending and channel i/c inside walls surface complete i/c cutting asphalt roads excavation in al kind of soil back filling and disposal of surplus stuff (KWSB) Approved rate.	56-Nos	9307.86	Each	428162/-
05	Extra depth beyond 5 ft or less then 5 deducted at the same rate (KWSB) Approved rate.	(-)28-cft	1609.15	Pñ	(-)45056
06	Refilling excavation stuff & surplus earth etc complete.	13365- clì	2760.00	%Cft	36887/-
07	Carriage of 100 cft tons of all kinds material like Cole bricks i/c loading unloading 10 miles.	1485-cft	595.80	%Cft	8848/-
08	Manufacturing and supply of R.C.C ring slab of 21"dia inside 36"dia out side,7.5" width and 6"thick i/e 3/8"diafor steel bars two concentric rings with 3/8"dia nos cross "inked bars welded and two sunk type hooks, casted in(1:1/2:3)cons with embedded 15Kg C.I Frame in perfect position i/e transportation charges for as average lead of 20 KM per trip from casting yard to town office (A minimum of 25 slabs per trip will be transported.)	30-Nos	1906.60	Bach	57198/-
	of 25 stabs per trip will be transported.)				

	09	Manufacturing and supply R.C.C main hole covers castin situ 1:2:4 C.C.3"Inch deep in centre reinforced with 3/8"dia M.S Bar welded on M.S sheet i/c curing transportation	32-Nos	913.63	Each	29236/-	
:	10	21" DIA. 24" DIA. Rate analysis for shifting to the site and fixing 26" dia Ring Slab in perfect position on damage manhole i/e cutting of damage portion of mentioned in past shape and lying of cement concrete mortar of 2"thicknessand disport.	30-Nos	563.09	Each	16893	

Nomenclature, quantities and rates Etc checked and found correct.

I/We hereby quoted rate@